



Apostol Bernoulli-Fibonacci Polynomials, Apostol Euler-Fibonacci Polynomials and Their Generating Functions

ELIF GÜLAL¹ , NAIM TUĞLU^{1,*}

¹Department of Mathematics, Faculty of Science, Gazi University, 06500 Ankara, Turkey.

Received: 26-01-2023 • Accepted: 22-05-2023

ABSTRACT. In this article, the Apostol Bernoulli-Fibonacci polynomials are defined and various properties of Apostol Bernoulli-Fibonacci polynomials are obtained. Furthermore, Apostol Euler-Fibonacci numbers and polynomials are found. In addition, harmonic-based F exponential generating functions are defined for Apostol Bernoulli-Fibonacci numbers and Apostol Euler-Fibonacci numbers.

2010 AMS Classification: 11B39, 05A19, 05A10

Keywords: Bernoulli polynomials, Apostol polynomials, Apostol Bernoulli polynomials.

1. INTRODUCTION

Due to the ease with which polynomials can be used to compute and operate mathematically, special numbers and polynomials have many valuable applications not only in mathematics but also in physics and engineering. As well as solving real-world problems, polynomials are used by physicists, engineers and biologists. The Bernoulli polynomials $B_n(x)$ are defined as follows in [1]:

$$\frac{te^{tx}}{e^t - 1} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}.$$

For $x = 0$, $B_n(0)$ is called the n -th Bernoulli number and denoted B_n . Some Bernoulli numbers and Bernoulli polynomials are:

$$B_0 = 1, \quad B_1 = -\frac{1}{2}, \quad B_2 = \frac{1}{6}, \quad B_3 = 0, \quad B_4 = -\frac{1}{30}, \quad B_5 = 0,$$

$$B_0(x) = 1, \quad B_1(x) = x - \frac{1}{2}, \quad B_2(x) = x^2 - x + \frac{1}{6}, \quad B_3(x) = x^3 - \frac{3}{2}x^2 + \frac{1}{2}, \quad B_4(x) = x^4 - 2x^3 + x^2 - \frac{1}{30}.$$

Bernoulli polynomials and Bernoulli numbers hold the following identities [1]

$$B_n(x+y) = \sum_{k=0}^n \binom{n}{k} B_k(x) y^{n-k},$$

$$B_n(x) = \sum_{k=0}^n \binom{n}{k} B_k x^{n-k}, \quad n \geq 0,$$

*Corresponding Author

Email addresses: elifercan06@gmail.com (E. Gülal), naimtuglu@gazi.edu.tr (N. Tuglu)

$$B_n = \sum_{k=0}^n \binom{n}{k} B_k, \quad n \geq 2.$$

The Euler polynomials $E_n(x)$ are defined by the generating function:

$$\frac{2e^{tx}}{e^t + 1} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!}.$$

For $x = 0$, $E_n(0)$ is called the n -th Euler number, which is denoted by E_n . Some Euler numbers and Euler polynomials are

$$E_0 = 1, \quad E_1 = 0, \quad E_2 = -1, \quad E_3 = 0, \quad E_4 = 5, \quad E_5 = -61,$$

$$E_0(x) = 1, \quad E_1(x) = x - \frac{1}{2}, \quad E_2(x) = x^2 - x, \quad E_3(x) = x^3 - \frac{3}{2}x^2 + \frac{1}{4}.$$

Euler polynomials and Euler numbers hold the following properties [1]:

$$E_n(x+y) = \sum_{k=0}^n \binom{n}{k} E_k(x) y^{n-k}.$$

Srivastava and Choi worked on Euler polynomials and numbers [15].

Some generalized forms of the Bernoulli polynomials and Euler polynomials have already appeared in literature. In [6], the Bernoulli polynomials and the Euler polynomials of order α are defined by the following generating functions

$$\left(\frac{z}{e^z - 1} \right)^\alpha e^{zx} = \sum_{n=0}^{\infty} B_n^\alpha(x) \frac{z^n}{n!},$$

$$\left(\frac{2}{e^z + 1} \right)^\alpha e^{zx} = \sum_{n=0}^{\infty} E_n^\alpha(x) \frac{z^n}{n!}.$$

Note that, for $x = 0$, the Bernoulli and the Euler polynomials of order α reduce to the Bernoulli and the Euler numbers of order α . Another generalization is Apostol Bernoulli polynomial of order α and Apostol Euler polynomials of order α respectively for arbitrary real or complex parameters α and λ (see, for details [2, 3, 8]).

Similar definitions of classical Bernoulli numbers and polynomials were given by T. M. Apostol, who worked on Lipchitz-Lerch Zeta functions [2]. These polynomials, called Apostol-Bernoulli, were later studied by Srivastava, and some generalizations of Apostol-Bernoulli polynomials were also explored by Luo and Srivastava [9, 13]. Thus, Luo and Srivastava came together to reveal the α -expanded Apostol-Euler and Apostol-Bernoulli polynomials, and by studying these polynomials systematically, they finally gave the product formulas of Apostolic type polynomials and the recurrence relations of Apostol-Euler polynomials [6, 7, 9, 10, 13]. In addition to these, the sum theorem for Euler and Bernoulli polynomials was also explored by Srivastava [14].

The Apostol Bernoulli polynomials and the Apostol Euler polynomials are defined as

$$\left(\frac{t}{\lambda e^t - 1} \right)^\alpha e^{tx} = \sum_{n=0}^{\infty} B_n^\alpha(x, \lambda) \frac{t^n}{n!},$$

$$\left(\frac{2}{\lambda e^t + 1} \right)^\alpha e^{tx} = \sum_{n=0}^{\infty} E_n^\alpha(x, \lambda) \frac{t^n}{n!}.$$

Some identities of these polynomials are ([2, 3, 8]):

$$B_n^\alpha(x+y) = \sum_{k=0}^n \binom{n}{k} B_k^\alpha(x) y^{n-k},$$

$$B_n^\alpha = \sum_{k=0}^n \binom{n}{k} B_k^\alpha,$$

$$E_n^\alpha(x+y) = \sum_{k=0}^n \binom{n}{k} E_k^\alpha(x) y^{n-k},$$

$$B_n^{\alpha+\beta}(x+y, \lambda) = \sum_{k=0}^n \binom{n}{k} B_n^\alpha(x, \lambda) B_{n-k}^\beta(y, \lambda),$$

$$E_n^{\alpha+\beta}(x+y, \lambda) = \sum_{k=0}^n \binom{n}{k} E_n^\alpha(x, \lambda) E_{n-k}^\beta(y, \lambda).$$

Note that, for $\lambda = 1$ the Apostol Bernoulli and the Apostol Euler polynomials of order α reduce to the Bernoulli and the Euler polynomials of order α . If $\lambda = \alpha = 1$ are taken, then classical Bernoulli and Euler polynomials are obtained.

Now, we give some definitions (for these definitions see [11, 12]) that we will use throughout the article.

The F -factorial is defined as

$$F_n! = F_n \cdot F_{n-1} \cdot F_{n-2} \cdots F_1, \quad F_0! = 1,$$

where F_n is n -th Fibonacci numbers. The Fibonomial coefficients are defined as ($0 \leq k \leq n$) as

$$\binom{n}{k}_F = \frac{F_n!}{F_{n-k}! F_k!}$$

with $\binom{n}{0}_F = \binom{n}{n}_F = 1$ and $\binom{n}{k}_F = 0$ for $n < k$. The F -binomial theorem is given by

$$(x +_F y)^n = \sum_{k=0}^n \binom{n}{k}_F x^k y^{n-k}.$$

The F -exponential functions e_F^x and E_F^x are defined as:

$$e_F^x = \sum_{n=0}^{\infty} \frac{x^n}{F_n!},$$

$$E_F^x = \sum_{n=0}^{\infty} (-1)^{\frac{n(n-1)}{2}} \frac{x^n}{F_n!}.$$

The following identity holds

$$e_F^x E_F^y = e_F^{(x+y)_F}. \tag{1.1}$$

The authors [5, 11] defined generating functions for Bernoulli-Fibonacci polynomials $B_n^F(x)$ and Euler-Fibonacci polynomials as follow

$$\frac{te_F^{tx}}{e_F^t - 1} = \sum_{n=0}^{\infty} B_n^F(x) \frac{t^n}{F_n!}, \tag{1.2}$$

$$\frac{2e_F^{tx}}{e_F^t + 1} = \sum_{n=0}^{\infty} E_n^F(x) \frac{t^n}{F_n!}, \tag{1.3}$$

where F_n is n th Fibonacci number.

In [5], Bernoulli F -polynomials were defined and various properties were obtained. In the light of the Eq. (1.2) and Eq. (1.3), we define the Apostol Bernoulli-Fibonacci polynomials and obtain various properties of these polynomials. Moreover, we define the Apostol Euler-Fibonacci polynomials and numbers. Finally, we give the harmonic-based F -exponential generating function for Apostol Bernoulli-Fibonacci numbers and Apostol Euler-Fibonacci numbers.

2. APOSTOL BERNOULLI-FIBONACCI POLYNOMIALS AND APOSTOL EULER-FIBONACCI POLYNOMIALS

In this section, we define some new generalizations of the Bernoulli polynomials and the Euler polynomials, the Apostol Bernoulli polynomials and the Apostol Euler polynomials with the help of golden exponential generating function. Then, we obtain some properties of these newly established polynomials.

Definition 2.1. The exponential generating function for Apostol Bernoulli-Fibonacci polynomials of order α , $B_n^{F,\alpha}(x, \lambda)$ and Apostol Euler-Fibonacci polynomials of order α , $E_n^{F,\alpha}(x, \lambda)$ are defined by

$$\left(\frac{t}{\lambda e_F^t - 1}\right)^\alpha e_F^{tx} = \sum_{n=0}^{\infty} B_n^{F,\alpha}(x, \lambda) \frac{t^n}{F_n!},$$

$$\left(\frac{2}{\lambda e_F^t + 1}\right)^\alpha e_F^{tx} = \sum_{n=0}^\infty E_n^{F,\alpha}(x, \lambda) \frac{t^n}{F_n!}. \tag{2.1}$$

If we take $\alpha = 1$, Apostol Bernoulli-Fibonacci polynomials of order α and Apostol Euler-Fibonacci polynomials of order α reduce to Apostol Bernoulli-Fibonacci polynomials and Apostol Euler-Fibonacci polynomials, respectively. These polynomials are

$$\frac{t}{\lambda e_F^t - 1} e_F^{tx} = \sum_{n=0}^\infty B_n^F(x, \lambda) \frac{t^n}{F_n!}, \tag{2.2}$$

and

$$\frac{2}{\lambda e_F^t + 1} e_F^{tx} = \sum_{n=0}^\infty E_n^F(x, \lambda) \frac{t^n}{F_n!}, \tag{2.3}$$

respectively. If we write $x = 0$ in equations (2.2) and (2.3), we obtain the Apostol Bernoulli-Fibonacci numbers and Apostol Euler-Fibonacci numbers as follows;

$$\frac{t}{\lambda e_F^t - 1} = \sum_{n=0}^\infty B_n^F(\lambda) \frac{t^n}{F_n!},$$

and

$$\frac{2}{\lambda e_F^t + 1} = \sum_{n=0}^\infty E_n^F(\lambda) \frac{t^n}{F_n!},$$

Theorem 2.2. *Apostol Bernoulli-Fibonacci polynomials $B_n^F(x, \lambda)$ satisfy the following relation:*

$$B_n^F(x + y) = \sum_{k=0}^n \binom{n}{k}_F (-1)^{\frac{(n-k)(n-k-1)}{2}} y^{n-k} B_k^F(x, \lambda).$$

Proof. Using Eq. (2.2) and Eq. (1.1), we get

$$\begin{aligned} \sum_{n=0}^\infty B_n^F(x + y, \lambda) \frac{t^n}{F_n!} &= \left(\frac{t}{\lambda e_F^t - 1}\right) e_F^{t(x+y)} \\ &= \left(\frac{t}{\lambda e_F^t - 1}\right) e_F^{tx} E_F^{ty} \\ &= \sum_{n=0}^\infty B_n^F(x, \lambda) \frac{t^n}{F_n!} \sum_{n=0}^\infty (-1)^{\frac{n(n-1)}{2}} y^n \frac{t^n}{F_n!} \\ &= \sum_{n=0}^\infty \left(\sum_{k=0}^n \binom{n}{k}_F (-1)^{\frac{(n-k)(n-k-1)}{2}} y^{n-k} B_k^F(x, \lambda)\right) \frac{t^n}{F_n!}. \end{aligned}$$

If the coefficients are compared, the desired result is obtained. □

Theorem 2.3. *The following formula for Apostol Euler-Fibonacci polynomials $E_n^F(x, \lambda)$ is correct*

$$E_n^F(x + y) = \sum_{k=0}^n \binom{n}{k}_F (-1)^{\frac{(n-k)(n-k-1)}{2}} y^{n-k} E_k^F(x, \lambda).$$

Proof. By utilizing Using Eq. (2.3) and Eq. (1.1), we obtain

$$\begin{aligned} \sum_{n=0}^{\infty} E_n^F(x+y, \lambda) \frac{t^n}{F_n!} &= \left(\frac{2}{\lambda e_F^t + 1}\right) e_F^{t(x+y)} \\ &= \left(\frac{2}{\lambda e_F^t + 1}\right) e_F^{tx} E_F^{ty} \\ &= \sum_{n=0}^{\infty} E_n^F(x, \lambda) \frac{t^n}{F_n!} \sum_{n=0}^{\infty} (-1)^{\frac{n(n-1)}{2}} y^n \frac{t^n}{F_n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k}_F (-1)^{\frac{(n-k)(n-k-1)}{2}} y^{n-k} E_k^F(x, \lambda) \right) \frac{t^n}{F_n!}. \end{aligned}$$

Thus, the desired result is relieved when the coefficients are equalized. □

Theorem 2.4. *The following formula for Apostol Euler-Fibonacci polynomials, $E_n^F(x, \lambda)$, is correct*

$$E_n^F\left(\frac{x}{2}, \lambda\right) = \sum_{k=0}^n \binom{n}{k}_F (-1)^{\frac{(n-k)(n-k+1)}{2}} \left(\frac{x}{2}\right)^{n-k} E_k^F(x, \lambda).$$

Proof. From Eq. (2.3) and Eq. (1.1), we have

$$\begin{aligned} \sum_{n=0}^{\infty} E_n^F\left(\frac{x}{2}, \lambda\right) \frac{t^n}{F_n!} &= \left(\frac{2}{\lambda e_F^t + 1}\right) e_F^{\frac{x}{2}t} \\ &= \left(\frac{2}{\lambda e_F^t + 1}\right) e_F^{xt} E_F^{-\frac{x}{2}t} \\ &= \sum_{n=0}^{\infty} E_n^F(x, \lambda) \frac{t^n}{F_n!} \sum_{n=0}^{\infty} (-1)^{\frac{n(n-1)}{2}} \left(\frac{-x}{2}\right)^n \frac{t^n}{F_n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^n \binom{n}{k}_F (-1)^{\frac{(n-k)(n-k+1)}{2}} \left(\frac{x}{2}\right)^{n-k} E_k^F(x, \lambda) \right) \frac{t^n}{F_n!}. \end{aligned}$$

So the proof is completed. □

Definition 2.5 ([12]). The Golden Derivative operator D_F^x acts on arbitrary function $f(x)$

$$D_F^x(f(x)) = \frac{f(\vartheta x) - f\left(-\frac{x}{\vartheta}\right)}{\left(\vartheta - \left(-\frac{1}{\vartheta}\right)x\right)},$$

where $\vartheta = \frac{1+\sqrt{5}}{2}$.

Note that, the Golden derivatives of Golden exponential functions are hold [12]:

$$D_F^x(e_F^{tx}) = t e_F^{tx}. \tag{2.4}$$

Theorem 2.6. *Apostol-Bernoulli-Fibonacci polynomials satisfy the formula*

$$B_n^F(x, \lambda) = \frac{D_F^x(B_{n+1}^F(x, \lambda))}{F_{n+1!}}.$$

Proof. By virtue of Eq. (2.1), we find that

$$\begin{aligned}
 D_F^x \left(\frac{t}{\lambda e_F^t - 1} e_F^{tx} \right) &= \frac{t}{\lambda e_F^t - 1} D_F^x \left(e_F^{tx} \right) \\
 &= t \frac{t e_F^{tx}}{\lambda e_F^t - 1} \\
 &= t \sum_{n=0}^{\infty} B_n^F(x, \lambda) \frac{t^n}{F_n!}
 \end{aligned}
 \tag{2.5}$$

and

$$\begin{aligned}
 D_F^x \left(\sum_{n=0}^{\infty} B_n^F(x, \lambda) \frac{t^n}{F_n!} \right) &= \sum_{n=1}^{\infty} D_F^x \left(B_n^F(x, \lambda) \right) \frac{t^n}{F_n!} \\
 &= \sum_{n=0}^{\infty} D_F^x \left(B_{n+1}^F(x, \lambda) \right) \frac{t^{n+1}}{F_{n+1}!} \\
 &= \sum_{n=0}^{\infty} D_F^x \left(B_{n+1}^F(x, \lambda) \right) \frac{t}{F_{n+1}} \frac{t^n}{F_n!}.
 \end{aligned}
 \tag{2.6}$$

If the coefficients in the Eq. (2.5) and Eq. (2.6) are compared, the desired result is obtained. □

Theorem 2.7. For $n \geq 1$, Apostol Bernoulli-Fibonacci polynomials can be calculated recursively by

$$\lambda \sum_{l=0}^n \binom{n}{l}_F B_l^F(x, \lambda) = F_n x^{n-1} + B_n^F(x, \lambda).$$

Proof. We know that, the generating function of Apostol Bernoulli-Fibonacci polynomials is

$$\frac{t}{\lambda e_F^t - 1} e_F^{tx} = \sum_{n=0}^{\infty} B_n^F(x, \lambda) \frac{t^n}{F_n!}.$$

If we multiply this equality by λe_F^t , we have

$$\frac{t e_F^{tx}}{\lambda e_F^t - 1} \lambda e_F^t = \sum_{n=0}^{\infty} B_n^F(x, \lambda) \frac{t^n}{F_n!} \lambda e_F^t.$$

If we subtract the above two equations side by side, we get

$$\frac{t e_F^{tx}}{\lambda e_F^t - 1} (\lambda e_F^t - 1) = \sum_{n=0}^{\infty} (\lambda e_F^t B_n^F(x, \lambda) - B_n^F(x, \lambda)) \frac{t^n}{F_n!}.$$

Thus,

$$\begin{aligned}
 t e_F^{tx} &= \sum_{n=0}^{\infty} (\lambda e_F^t B_n^F(x, \lambda) - B_n^F(x, \lambda)) \frac{t^n}{F_n!} \\
 &= \sum_{l=0}^{\infty} \lambda e_F^t B_l^F(x, \lambda) \frac{t^l}{F_l!} - \sum_{n=0}^{\infty} B_n^F(x, \lambda) \frac{t^n}{F_n!}.
 \end{aligned}$$

For the first sum of the RHS of this equation, we find that

$$\begin{aligned}
 \lambda \sum_{l=0}^{\infty} e_F^t B_l^F(x, \lambda) \frac{t^l}{F_l!} &= \lambda \sum_{l=0}^{\infty} \sum_{k=0}^{\infty} B_l^F(x, \lambda) \frac{t^k}{F_k!} \frac{t^l}{F_l!} \\
 &= \lambda \sum_{l=0}^{\infty} \sum_{k=0}^{\infty} B_l^F(x, \lambda) \frac{t^{k+l}}{F_k! F_l!}.
 \end{aligned}$$

For $k + l = n$, we get

$$\begin{aligned} \lambda \sum_{l=0}^{\infty} e'_F B_l^F(x, \lambda) \frac{t^l}{F_l!} &= \lambda \sum_{n=0}^{\infty} \frac{1}{F_n!} \sum_{l=0}^n B_l^F(x, \lambda) \frac{t^n F_n!}{F_{n-l}! F_l!} \\ &= \lambda \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{k}_F B_l^F(x, \lambda) \right) \frac{t^n}{F_n!}. \end{aligned}$$

By virtue of Eq. (2.4), we obtain

$$\begin{aligned} D_F^x (e^{tx}) &= D_F^x \left(\sum_{n=0}^{\infty} \frac{(tx)^n}{F_n!} \right) \\ &= \sum_{n=1}^{\infty} D_F^x (x^n) \frac{t^n}{F_n!} \\ &= \sum_{n=1}^{\infty} F_n x^{n-1} \frac{t^n}{F_n!}. \end{aligned}$$

Thus,

$$\begin{aligned} \sum_{n=1}^{\infty} F_n x^{n-1} \frac{t^n}{F_n!} &= \lambda \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{n}{k}_F B_l^F(x, \lambda) \right) \frac{t^n}{F_n!} - \sum_{n=0}^{\infty} B_n^F(x, \lambda) \frac{t^n}{F_n!} \\ &= \lambda B_0^F(x, \lambda) \binom{0}{0}_F + \lambda \sum_{n=1}^{\infty} \left(\sum_{l=0}^n \binom{n}{k}_F B_l^F(x, \lambda) \right) \frac{t^n}{F_n!} - B_0^F(x, \lambda) - \sum_{n=1}^{\infty} B_n^F(x, \lambda) \frac{t^n}{F_n!} \\ &= \lambda \sum_{n=1}^{\infty} \frac{t^n}{F_n!} \left(\sum_{l=0}^n \binom{n}{k}_F B_l^F(x, \lambda) - B_n^F(x, \lambda) \right). \end{aligned}$$

Therefore, we have

$$\lambda \sum_{l=0}^n \binom{n}{k}_F B_l^F(x, \lambda) - B_n^F(x, \lambda) = F_n x^{n-1}.$$

□

3. HARMONIC-BASED APOSTOL EULER-FIBONACCI AND APOSTOL BERNOULLI-FIBONACCI NUMBERS

In this section, we obtain harmonic-based F -exponential generating functions of the Apostol Euler-Fibonacci and Apostol Bernoulli-Fibonacci numbers. The harmonic numbers defined by

$$h_n = \sum_{k=1}^n \frac{1}{k},$$

where $h_0 = 0$.

In [4], Dattoli studied vacuum amplification of harmonic numbers operator, with the help of harmonic-based exponential generator functions (see [4, 16]) defined the hyperharmonic Fibonacci numbers as follows

$$\mathbb{F}_n = \sum_{k=1}^n \frac{1}{F_k},$$

where $\mathbb{F}_0 = 0$.

Kuş et al. [5] obtained harmonic-based F -exponential generators of Euler-Fibonacci numbers, Euler-Fibonacci polynomials and Bernoulli Fibonacci polynomials

$$e^{Ft} = 1 + \sum_{n=1}^{\infty} \mathbb{F}_n \frac{t^n}{F_n!},$$

is a harmonic-based F-exponential function, where

$$\partial_{F,t} e^{f_{\mathbb{F}}t} = 1 + \sum_{n=1}^{\infty} \mathbb{F}_{n+1} \frac{t^n}{F_n!}.$$

Theorem 3.1. *Harmonic-based F-exponential generating function of Apostol Bernoulli-Fibonacci numbers are*

$$\sum_{n=0}^{\infty} B_n^F(\lambda) \frac{t^n}{F_n!} = \frac{t}{\lambda - 1 + \lambda t(\partial_{F,t} e^{f_{\mathbb{F}}t} - e^{f_{\mathbb{F}}t} + 1)}.$$

Proof. By using the harmonic-based F-exponential function $e^{f_{\mathbb{F}}t}$ and the exponential generating functions for Apostol Bernoulli-Fibonacci numbers, we get

$$\begin{aligned} \lambda e_F^t - 1 &= \lambda \sum_{n=0}^{\infty} \frac{t^n}{F_n!} - 1 \\ &= \lambda + \lambda \sum_{n=1}^{\infty} \frac{t^n}{F_n!} - 1 \\ &= \lambda - 1 + \lambda t \sum_{n=0}^{\infty} \frac{1}{F_{n+1}} \frac{t^n}{F_n!} \\ &= \lambda - 1 + \lambda t \sum_{n=0}^{\infty} (\mathbb{F}_{n+1} - \mathbb{F}_n) \frac{t^n}{F_n!} \\ &= \lambda - 1 + \lambda t \left(1 + \sum_{n=1}^{\infty} \mathbb{F}_{n+1} \frac{t^n}{F_n!} - \sum_{n=1}^{\infty} \mathbb{F}_n \frac{t^n}{F_n!} \right) \\ &= \lambda - 1 + \lambda t(\partial_{F,t} e^{f_{\mathbb{F}}t} - e^{f_{\mathbb{F}}t} + 1). \end{aligned}$$

Thus,

$$\begin{aligned} \sum_{n=0}^{\infty} B_n^F(\lambda) \frac{t^n}{F_n!} &= \frac{t}{\lambda e_F^t - 1} \\ &= \frac{t}{\lambda - 1 + \lambda t(\partial_{F,t} e^{f_{\mathbb{F}}t} - e^{f_{\mathbb{F}}t} + 1)}. \end{aligned}$$

□

Theorem 3.2. *Harmonic-based F-exponential generating function of Apostol-Euler-Fibonacci numbers is given by:*

$$\sum_{n=0}^{\infty} E_n^F(\lambda) \frac{t^n}{F_n!} = \frac{2}{1 + \lambda + \lambda t(\partial_{F,t} e^{f_{\mathbb{F}}t} - e^{f_{\mathbb{F}}t} + 1)}.$$

Proof. By using the F -exponential function $e^{f_F t}$ and the exponential generating functions for Apostol Euler-Fibonacci numbers, we get

$$\begin{aligned}
 \lambda e_F^t + 1 &= 1 + \lambda + \lambda \sum_{n=1}^{\infty} \frac{t^n}{F_n!} \\
 &= 1 + \lambda + \lambda t \sum_{n=0}^{\infty} \frac{1}{F_{n+1}} \frac{t^n}{F_n!} \\
 &= 1 + \lambda + \lambda t \sum_{n=0}^{\infty} (\mathbb{F}_{n+1} - \mathbb{F}_n) \frac{t^n}{F_n!} \\
 &= 1 + \lambda + \lambda t \left(\sum_{n=0}^{\infty} \mathbb{F}_{n+1} \frac{t^n}{F_n!} - \sum_{n=0}^{\infty} \mathbb{F}_n \frac{t^n}{F_n!} \right) \\
 &= 1 + \lambda + \lambda t \left(1 + \sum_{n=1}^{\infty} \mathbb{F}_{n+1} \frac{t^n}{F_n!} - \sum_{n=1}^{\infty} \mathbb{F}_n \frac{t^n}{F_n!} \right) \\
 &= 1 + \lambda + \lambda t (\partial_{F,t} e^{f_F t} - e^{f_F t} + 1).
 \end{aligned}$$

□

CONFLICTS OF INTEREST

The authors declare that there are no conflicts of interest regarding the publication of this article.

AUTHORS CONTRIBUTION STATEMENT

The authors have read and agreed to the published version of the manuscript.

REFERENCES

- [1] Abramowitz, M., Stegun, I.A., Handbook of Mathematical Functions: with Formulas, Graphs, and Mathematical Tables, Courier Corporation, USA, 1972.
- [2] Apostol, T.M., *On the Lerch zeta function*, Pac J. Math., **1**(1951), 161–167.
- [3] Apostol, T.M., *Modular Functions and Dirichlet Series in Number Theory*, Graduate Texts in Mathematics, Springer-Verlag, New York, 1976.
- [4] Dattoli, G., Germano, B., Licciardi, S., Martinelli, M. R., *Umbral methods and harmonic numbers*, Axioms, **7**(2018), 1–9.
- [5] Kuş, S., Tuglu, N., Kızılateş, C., *A study of harmonic Fibonacci polynomials associated with Bernoulli-F and Euler-Fibonacci polynomials*, Indian J. Pure Appl. Math., to appear.
- [6] Luo, Q.M., *Some recursion formulae and relations for Bernoulli numbers and Euler numbers of higher order*, Adv. Stud. Contemp. Math. (Kyungshang), **10**(2005), 63–70.
- [7] Luo, Q.M., *Apostol-Euler polynomials of higher order and Gaussian hypergeometric functions*, Taiwanese J. Math. **10**(2006), 917–925.
- [8] Luo, Q.M., *The multiplication formulas for the Apostol-Bernoulli and Apostol Euler polynomials of higher order*, Integ. Trans. and Special Func., **20**(2009), 377–391.
- [9] Luo, Q.M., Srivastava, H.M., *Some generalizations of the Apostol-Bernoulli and Apostol-Euler polynomials*, J. Math. Anal. Appl., **308**(2005), 290–302.
- [10] Luo, Q.M., Srivastava, H.M., *Some relationships between the Apostol-Bernoulli and Apostol-Euler polynomials*, Comput. Math. Appl., **51**(2006), 631–642.
- [11] Özvatan, M., *Generalized Golden-Fibonacci Calculus and Applications*, Master Thesis, The Graduate School of Engineering and Sciences of Izmir Institute of Technology, Izmir, 2018.
- [12] Pashaev, O.K., Nalci, S., *Golden quantum oscillator and Binet Fibonacci calculus*, J Phys A: Math Theor., **45**(2012), 015303.
- [13] Srivastava, H.M., *Some formulas for the Bernoulli and Euler polynomials at rational arguments*, Math. Proc. Cambridge Philos. Soc., **129**(2000), 77–84.
- [14] Srivastava, H.M., Pinter, A., *Remarks on some relationships between the Bernoulli and Euler polynomials*, Appl. Math. Lett., **17**(2004), 375–380.
- [15] Srivastava, H.M., Choi, J., *Series Associated with the Zeta and Related Functions*, Kluwer Academic Publishers, Dordrecht, 2001.
- [16] Tuglu N., Kızılateş C., Kesim, S., *On the harmonic and hyperharmonic Fibonacci numbers*, Advances in Difference Equations, **2015**(2015), 297.